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In a computer, the =~ subsystem serves as a manager of the other
subsystems.
(a) ALU (b) input/output (¢) memory (d) control unit
The  is a storage device in which the user can write information only
once to the disc.
(a) CD-R (b) CD-ROM (c) CD-RW (d) all of the above
Which of the following computer architectures uses micro operations and
micro memory?
(a) RISC (b) CISC (c) DISC (d) MISC

is multiprogramming with swapping.

(a) Partitioning (b) Paging (c¢) Demand paging (d) Demand partitioning
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PP EP P
immediate addressmg mode
direct addressing mode
indirect addressing mode
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WEP A FE kY WpE g2 (real-time processing) fr3 65 5% g
(interactive processing) F ® # I¢?
WP A TFE kAP 4o pF (time-sharing) fv % 1 (multitasking ) =
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1. FEp - BHSpE (flatfile) 2 - B FHE (database) 7L £ 2
2. REORE kP 3 T4 (dataindependence) ?
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1. - # = = #F (binary tree) ¥ > depth-first traversal = breadth-first
traversal (1 Z B 5 @ ?
2. - B® (graph) ® > depth-first traversal §= breadth-first traversal 1%
R Liw?
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FP § ¢ ¥ (interrupt) 3 2 % » CPU % {79 3% -
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A binary tree has 10 nodes. The inorder and preorder traversals of the tree are
shown below.
Inorder: ABCEDFJGIH
Preorder: JCBADEFIGH
Please draw the tree.

AL (10 &)
There are two arrays A and B, each of 10 integers. Please write an algorithm
in pseudo code that tests if every element of array A is equal to its
corresponding element in array B.  Please name this algorithm as
TestEquality. This algorithm has two arrays as its input and one Boolean
returned value, true for equality, false otherwise.

AL (10 &)
Is the following relation in first normal form (INF)? If not, change the table
to make it pass 1NF criteria.

A B C D
| 70 65 14
2 25,32,71 24 12, 18
3 32 6, 11 18




